(

R A 70\ [LUMDN

Relay-type Terminal Block

& F_Pitch 61.5mm

Eirl] %
T;I;e Number F1 009
E 1%
Hating AC1000V 450A
AT A HT 500V 1000MQ Lk
Insulation Resistance | DC500V  1000MQ and over
i & £ 3000V 1 REIIE
Withstands Voltage |AC3000V 1 minute and over
BTG 38mm*~325mm?
o ie | 2 AWG ~600MCM
ERRE XEFT LY 18.5N-m
Clamping torque for connection screw

—% 257/ General Tolerance +0.5

UREE/Scale Y4 AL/ Unit mm]

+2.0
JEA Vi | 1 AR A AT A — T —
7.5 B+1.5 o g % oo
~ o | BARTEAS -3, KIA H A
15 61.5 3812 | 3Bmm | L ey =5 5 R38-12
. H AR b B . K] H A
X ) X 150-12 | 150mm” | 2 w2 =5 5 R150-12
3T | | " T
~ B RN T E e S NN ERN
—_—J r= 325-12 | 325mm’ | 2 Ve ey T =% 5 R325-12
J | J | ' 5
—
= - : P
E
= ( N W ) < ) =
— il
e}
! ! ! 1
®/ 52 95 }@ 8 5 _C-Clrifil_
C-C sections
L
= C —
: 5 %EI
o lm | el 2
—
S
= \ o \ o \ - 2
K). —
P <
. I @
o . — = C
o Eck A | — W] P
® Ordering Form : Type No.  No. of Poles (P)
B4 Specifications.
E8% Part No. % ¥5/Part Name # & Material #1& / Standard st/ Size 4038/ Treatment fis %,/ Remark
1 AT (A) Base (A) PBT UL94V-0 2 & Black
2 A (B) Base (B) PBT UL94V-0 B Black
3 HE(C) Base (C) PBT UL94V-0 B fn Black
4 SETEA Terminal §i  Copper C1100P W OE 5.0 | =7 MAvF Nickel-Plated
5 FERRE A Screw #  Steel SWCH MI2X 1.75X 30 ¢ | ZHmi-h Tivdent Cronee Trament | PW.SWASAAIL b Typel)
6 AfiF v b Hexagon nut #  Steel SWCH M12X1.75 Z9rWAvF  Nickel-Plated
7 HFEARIV I Connecting bolt #  Steel SWCH M6X1.0X ¢ ZfA-b Trvaent Chromete Tratment F
8 #EfES v & Connecting nut #  Steel SWCH M6X1.0 ZHA-b Trivaent Chromte
9 FLEFE BN Marking strip 7 7 A /N— Fiber UL94V-0 O 10.8 B f White
10 712N — Cover ARYA—F%—b  Polycarbonate UL94V-0 W OE t1.5 % Wl  Transparence
11 AIN=1EE A Cover Retaing screw # Ol Brass C2700W M3X0.5X8 ¢ | ZvrhAs% Nickel-Plaed | PNSWEAANAVE  Typeld
12 ANAF v b Hexagon nut #  Steel SWCH M3X0.5 Z9rVAvF  Nickel-Plated
%1, Poles 1P| 2 |3 | 4|56
A 92 |153.5| 215 |276.5| 338 |399.5 ¥ 6P LIS ERONUT T Stk 2 sl b, ]
B 77 | 138.5] 200 |261.5| 323 |384.5

42



